RBI#Z

— ad #D1
2w —EEEA- R b
// - 3
PPN At IS EBTE R
FURE f=a (=3 S L: Lo l D, D- W d2
0
L D JIS2i os | M9
RBI 5D 46 | 17 | M5x08 | 24 4 12 11 9 5
RBI 6D 552 | 20 M6 X 1 28 5 15 | 10 | 13 | 11 6
RBI 8D 65 24 M8 X 1.25 32 16 125 16 14 8
RBI 10D 745 | 28 | Miox125| 35 | 65 | 18 | 15 | 19 | 17 | 10
RBI1OBD | 805 | 28 | Miox15 | 35 | 65 | 18 | 15 | 19 | 17 | 10
RBI 12D 84 | 32 |Mi2x125| 40 | 65 | 20 | 175 | 22 | 19 | 12
RBI12BD | 91 | 32 |Mi2x175| 40 | 65 | 20 | 175 | 22 | 19 | 12
RBI 14D 103 | 36 | Mi14x15 | 45 8 25 | 20 | 25 | 22 | 14
RBI14BD | 109 | 36 | Mi4x2 | 45 8 25 | 20 | 25 | 22 | 14
RBI 16D 112 | 40 | M16x15 | 50 8 27 | 22 | 27 | 22 | 16
RBI16BD | 118 | 40 | Mi6x2 | 50 8 27 | 22 | 27 | 22 | 16
(#155] (HEIEF]
IS EREEHES (R22-65%) SYTIARE 0.03mmLL T
R—UEyv>s  CHRESEE HvB50LLE FEYT IS 0.1TmmLIT
JpUE S35C . -3 a .
SO0 — NLE [R=ILFED v 2 I DRFRRE]
T NBRISSHEMT s H10&E#ELET,
FURZEE DB
RBI10 D L aUEs [ #8sL| L
— T -
— RLIHHRE | HRL | £hU
T=IRE | t—IfEr 8 HRU
EelVes)
EEIIIO—RFTIZNILYART
B22-14 A FORBERRL CLEEL https://tech.thk.com




